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A number when divided by 899 gives a remainder

63. If the same number is divided by 29, the
remainder will be:

fordt §%=a +1 899 § 9M =4 W Y19 63 Wid =idl ¢ |
gfs 39 = F1 29° 9 < d 99 UG = —
(1) 10 (2) 5 (3) 4 4) 2
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What is the Arithmetic mean of the first 'n’ natural
numbers ?

Y99 'n’ Wikfds SEAE &1 GHiGL 95 94 2 2

nn+1) n+l
M — @ —

2
@ Lt ) 2(n + 1)

2
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The decimal fraction 2.349 is equal to
o 979 B WHad 9= fFas vt 272
(1) 2326 /999 (2) 2326/990
(3) 2347/999 (4) 2347/990
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The L.C.M. of two numbers is 1820 and their H.C.E
Is 26. If one number is 130 then the other number
IS :

31 HEAIE H1 A9, 1820 © 3R 391 4H. 26 ¢l Afs T
@ 130 &, 9 T 9E E-
(1) 70 (2) 1690  (3) 364 (4) 1264
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Is equal to / d{s{ 2 -

V3V3V3..
(1) J3 (2) 3 3) 243  (4) 33
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Find the value of / <hl HIH FId HIfSTT|

\/30 + 430 + V30+.....

(1) 5 2 310 (3)6 (4) 7
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The average monthly salary of the workers in a work-
shop is Rs. 8,500. If the average monthly salary of 7
technicians is Rs. 10,000 and average monthly sal-

ary of the rest is Rs. 7,800, the total number of work-
ers in the workshop is

fordt e § AfHeh! 1 HIfTeR 3TEd od9 ¥ 8,500 2
Ifg 7 qepren! faeiv=l 1 mWigess id 994 210,000 &
IR 99 gfierl &1 Hifgs 3iEd d9d4 F 7,800 @I, di
FTIIMA § HERG AHR] Sl HA G2

(1) 18 (2) 20 (3) 22 (4) 24
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The average of 8 numbers is 27. If each of the num-
bers is multiplied by 8, find the average of new set of
numbers.

8 &S 1 3MHd 27 21 I Yeh G i 8 ¥ TN
fomen ST @ SEmedi & U 9Y=ag &1 SEd Jd S
(1) 1128 (2) 938 (3) 316  (4) 216
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A batsman makes a score of 87 runs in the 17th
innings and thus increased his average by 3. Find his
average after 17th innings.

UF dooidrs 174 90 § 87 ™ 461 @ 3R 39 YFHR
ST a3 T 9 a1 €1 1791 Ui & 918 SHHT {9

A ShifsTy|
(1) 39 (2) 87 (3) 90 (4) 84
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The average age of 11 players of a cricket team is
increased by 2 months when two of them aged 18
years and 20 years are replaced by two new play-
ers. The average age of the new players is

et frehe 3 & 11 faenfsal &t f9d 21y 2 TN o3
STt € W 39 ° 9 I Taenfedl, fSAwt 31y 18 99 2R
20 99 ¥, % TF W I T4 faenfeat & & fomn s 2
T faenfeai #t fEq g 2—

(1) 19 years / g9 1 month / &M

(2) 19 years / 99 6 months / A&

(3) 19 years / g9 11 months / &M

(4) 19 years / 9% 5 months / &
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The average age of 12 players of a team is 25 years.
If the captain’s age is included, the average age in-
creases by 1 year. The age of the captain is:

fedt S| & 12 foonfedl +t of9d g 25 99 ® |
g FwE & Y o Aimfaq wT ot WU a1 SfHa
g 199 9¢ Wl © | FEE hBI 3G 8—

(1) 25 years/aﬁ (2) 38 years/atf

(3) 36 years/‘orﬁf (4) 26 years/‘f:ltf
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Four years ago, the ratio of the age of A and B was
2 : 3 and after four years it will become 5: 7. Find
their present age.

4 99 YgA A 3R B hl 3T T S92 : 3 o1 941 4 9
Gl Fg STUM 5 : 7 Bl W 37k! IqHH 3T H1d
Fifsiy|

(1) 36 years and 40 years / 36 9 3R 40 o

(2) 32 years and 48 years / 32 94 AR 48 T4

(3) 40 years and 56 years / 40 99 AR 56 o9

(4) 36 years and 52 years / 36 99 3R 52 94
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729 ml of a mixture contains milk and water in the

ratio 7 : 2. How much more water is to be added to
get a new mixture containing milk and water in the
ratio 7 : 37

729 foctt fagor & #ueT: 7 : 2 & ST H ¥ R AT
g1 ST forae oAt oIR freman Sw foed Tw fagor § gy
3R U T S| HEY: 7 : 3 B S 2

(1) 81 ml / THeit (2) 60 ml / Taedt

(3) 71 ml / THeit (4) 52 ml / Taeit
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In an examination, 19% students fail in Mathematics
and 10% students fail in English. If 7% of all stu-
dents fail in both subjects, then the number of stu-

dents passed in both subjects is

T T H 19% forenedt wforg o IR 10% fommedt st o
FE Bd €1 afe OR faenfes § @ 7% fomneff <M
oo o ool B9 €, o <M fawal § S<ivl gF a9
ferenfelai =) Hem @

(1) 36 % of all students / |4t fo=nfefai =1 36%
(2) 64% of all students / 94 fo=nfe= =1 64%
(3) 71% of all students / 9t fa=nferai =1 71%
(4) 78% of all students / 9t fa=nfei=i &1 78%




/@ W atiendra ¢// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

A person gave 20% of his income to his elder son,
30% of the remaining to the younger son and 10%

of the balance, he donated to a trust. He is left with ¥
10080. His income was :

Toh Afdd 7 3T AT HT 20% 370+ 9 A i &
e I HT 30% 3T B YA Kl < A I = B
TR T 10% SHI Tk T &l T & 3N 39 YohR SHh
99 10080 ¥4 & | ITh! 3 <fi—

(1) ¥ 50000 (2) ¥ 40000
(3) ¥ 30000 (4) ¥ 20000
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A man spends 75% of his income. His income is in-

creased by 20% and he increased his expenditure by
10%. His savings are increased by

U SAfEd STT 3 FT 75% @ Ll 2l ITHT 3™

20% 96 STl & 3R 98 3191 @9 10% 961 Idl &1 ST
a9q fhat del ?

1
(1) 37;% (2) 50% (3) 25%  (4) 10%
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By selling 20 metres of cloth a man gains the selling
price of 4 metres of cloth. The gain percent is

T Hfad i 20 T HYST o9 W 4 WX HYe & fah!
o & SRIeR ey U eian €, qf sty = wfav
oo 272

(1) 25 (2) 30 (3) 35 (4) 20
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A reduction of 20% in the price of salt enabled a pur-
chaser to obtain 4 kg. more for ¥ 100. The reduced
price of salt per kg is :

T o Hod H 20% 1 FHI 3 W Tk @R 100
T | 4 fFm % 3R Tl oidl € | T9% T = ge

Ied ufa fem. &
(1T 4 (2)X 5 (3)I6.25 (4)6.50
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A shopkeeper sold an article at a loss of 20%. But if
he could sell it at ¥ 200 more, he could earn a profit
of 5%. The cost price of the article is

Ush TohMER Ueh HGMHM i 20% B T a9l cifehd AfS
98 39 200 T9I 3tk | &= gl df 39 5% oY &idll

A onl n<HH % -
(1) 800  (2) T1,000 (3) % 1,200 (4) T 600
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The marked price of a watch isI 1,600. The shopkeeper
gives successive discounts of 10% and x% to the

customer. If the customer pays I 1,224 for the watch,
the value of x is

U BIEE! 1 3ifhd o T 1,600 &1 ST fawdl U
TR ! HHMEAR 10% 1 x% i T2 31 8 3T THER
Y 71,224 9 GT ol Bl AR x 1 WA M 2?2

(1) 5% (2) 10% 3) 15%  (4) 20%
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A fan is listed at ¥ 1500 and a discount of 20% is
offered on the list price. What additional discount
must be offered to the customer to bring the net price

toI 1104 7

Tk Y@ &1 gEl goI 1500 . © R G ged W 20%
FI e & S B fRE mEw w fhar sifafea
FIl & W qlfh IHEBT Ys Hed 1104 T TS
L%

(1) 8% (2) 10% 3) 12%  (4) 15%
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To complete a work, A takes 50% more time than B.
If together they take 18 days to complete the work,
how much time shall B take to do it ?

fodt & = W FH H A, B 9 50% A% 079 ol
g1 afg foctas 9 358 & 1 18 T ¥ @ L, 1 B 1o
39 foRad w9g | qU Kam ?

(1) 30 days / T& (2) 35 days / T&A

(3) 40 days / T (4) 45 days / T&A




/@ W atiendra ¢// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E06321 /

To do a certain work, B would take time thrice as
long as A and C together and C twice as long as A and
B together. The three men together complete the work

in 10 days. The time taken by A to complete the work
separately is

Uk hH i H B i, ATYl C o Th-H1 & hi ol
T O T o1 € 3R C i, A JUT B & U WY FH
T 1 qAT H T THT I 8| GRTER, A 41 St
ThH-1¥ 39 HH 10 T § Q0 HT <d 2, O HAehel
Al I8 w1 U kH H fopar gwa @ ?

(1) 22 days / f&A (2) 24 days / T&=

(3) 30 days / T (4) 20 days / T&A




